8T0Z-92-T040) %Z YUM NIIS £102-ST-9 3A22} Sa1ey Aed\[ETUNTLT\NO0IINO IUAUO\sa|14 12Ua1U] AJ10dwa [\SMOPUIM\LOSO 1NN 2907\ 2280 YA 000" LNG LINDS Y2inyal\sIasn\:3

Attachment B

(8T0Z/01/10 40 se paiepan)

aleq

B1/92/]

(119) 6Y°SES = T9'T$ + T9'TS + LT'TES i€ daig

(19) 88°EE$ = TO'TS + LT'TES ‘T dols

1915 = S0°0 X LZ'TES = 2IBY 2588 Y} JO %6 !£Z°ZES = 23eY 2seq T dais
:3)dwex3

{5834 GT) 17 @1€yn3€2 01 (T da35 Ul P33e|NI|ed SB) Seg 3Y) 4O %G X 7 + dalg aseg :f daxg
{sie2A Q1) 7 @3gIN2jED 01 (T 31§ Ul pale|nd|ed se) aseg ay) JO %G + dais aseg iz dag
(500 x das aseg) aseg ayl Jo %, g aig|najed i1 dais

TPOUIep uonenojey

8I0Z/61/1

17§ 2307 NIYs 4aziuesiQ jeufaiu| umﬁwﬁmﬁ@g

|7
aAMfiuasaiday Jpidey e nr

w.l.llllu
OY.LIN Zn4) eIues ‘1o 1399 ‘PL034iID XY

§ .§ 2318y

sa1ey Aed T°0T 3j21uY

SIVETEETY: 7

. @AI3S SNONUHUOD JO Si0aA (ST) uaayfif saifo Ainjos asog ay3 Jo %5 |DUOIIPPD Uy
'321A435 SNONUIUOS f0 siDad (o) uay 13)/p ADiDS 35Dq 3y} Jous
'$mojffof s0 SJuaWaIIul ANn36UO] YiM 3340jdWs LD 2105USDWO3 (DY DXL I,
RIASEUOT £ 01 oY

(%5+%6) A31n0BuOT SJeA 6T = 11 {{%S) AnnaSuoT sieas 0T = 3

SO°TE 65°0€ £1'62 7S'0€ §T62 | WLLL 90'67 wLLT 9T 89'L7 9T 91'sZ 9€'9¢ 91'57 96'€2 01'se 96'€7 82T 11 H3¥3LS10HdN
7508 £1'6¢ LT 9067 vL LT Zr9 8947 9t ST'SZ 9€'9C 91'SZ 96°€Z 01's? 96'ET 8'7T 16'€C 8T €12 | ¥3¥31S10HdN
1€'87 0LT £L°ST 96'97 €L'5T 05"tz L9'ST 0S'vZ ££'EZ vyl £E'ET f£444 8T'€7 [£4F44 91’12 LTTT 91z ST'0Z MY¥I1D SL8Vd ONIAIZDTFY
1€'87 20'LT £0°ST 96'9C £L'ST 05t L9'sT 05'¥Z £E'ET vt vl EE'EL T 87'€T [543 9112 L1z 9T’ ST'0Z NI S1¥vd
STSE SSEE S6'TE LV'EE S6'TE £V7'0E 88'1€ EV'0E 86'82 9¢'0€ 86'87 09'LZ 16'82 09'/2 6292 vS LT 62°97 v0'ST W3-5431D S1¥vd Av3l
9L'6€ S6'LE PT9E 98'LE rT 9 Zv'vE 90°9¢ Ir'vE 8L'ZE TEVE 8L'TE ZTTE TLTE TT1E £L'67 ST'TE EL'6T T€'82 111 JINVHIIN N4
L6'9€ 67'SE 19°€E 1Z'SE 19'EE 10°ZE £S'EE T0°Z€ 67°0E v6'TE 60'0€ v0'6Z {20 rO'6Z 99'L2 86 87 99°£2 vE9Z 11 JINVHIIIN IS
98'€E €€ 8L'0€ SC'ZE 8L0E TE'67 1L0€ TE'6C 16'LT ¥T'67 1642 85°9Z S8'LT 8597 1€'SZ 75'9 T€'SC [1%74 I JINVHIIN W4
9E'TY 8Y'6E 09'LE 6£'6E 09'LE 18'SE TS'LE 18'SE 0T'PE TLSE 0T'TE 8v'ZE £0'vE 8'TE £6'0€ 43 £6'0E 9v'6Z JINVHIIIA AV3T N4
09'EY 9'TY v9'6€ ES'TY r9'6E SLLE SS'6E SLLE S6°SE 99°LE S6'SE vT'PE L8'SE vZ'vE 19'CE 91'vE 19°7€ 90°'T€ NVIJINHD3IL JINOYLD313
67'SE 88'EE LTTE 18€E LTTE £L°0F 61'ZE £4'0€ LT6T 99°0€ LT'6L 88'LT 17'6L 88'/T SS°9Z 1847 55'9¢ 62'ST JINVHIIW ¥IVd 3y AQ08

3INAIHIS AYVIVS NINA

119 dais 19 daig gdas| T15das| 1sdag sdag| Tpdas| pdas v dais| MNedays| 1gdas gdans| Tzdas| jzdes zdas| Trdais| 71dois T daig

£LTOT 'ST dunf anday3




8T0Z-97-10 0} %0 YIM M113S BTOZ-71-9 9A1204a saley Aeg\rgTdNT£Z\{00[ING 1U3IU0D\S3| S DI} AJeiodiua L\SMOPUIAL1050 1A\ 220\ e2egddvA Q00 LNG LAIDS 4NN s1asm\D 8102/61/1

126 18207 Ni3s 1aziuedup |euJanu pean o

aAnelussasaday serdeyd i g enf

C ‘anoqe papinold se sajeas Aed 03 2248y
saiey Aed T°01 221y
ot
e
D ] aeq EUEIEEY
i
®)
qv] (119) 66°SE$ = 19T + 19°T$ + £T°ZE$ € dois
= (19) 88'€€5 = 19°T$ + L2ZE$ 7 dass
A T9'TS = S0'0 X LZ'ZES = 1LY 358G Y} JO %S LT'TES = ey Iseg T dais
:ajduwexy
(sieaj ST) 77 @38|n2(eD 01 (T 021§ Ul PRle|ndjed se) aseg ayl JO %5 X 7 + da1s aseq g dalg . '301A43S SPONUBLOS JO SID3A (5T ) udayif 12:fe A1ojos asog ay2 fo o6 [DUOIIPPD Uy
(sieaA O1) 7 @1en2jed 03 (1 daig Ul pajejnajed se) aseg Ayl Jo %S + dals aseq ¢ 6als 924743 sPONUUO3 fo S103A (7 ) u3) Jalfo Atojos asog ay; fo ke
(S0°0 x dais aseq) aseg ayy jo % § 21e|NIR 1T dals SMOJIof S SJUAWAIIUN A1A3BUO] Ylim 33A010WS LD 2)DSUIdWOI |BYS OHL1IN,
‘POYISN uoneNIe) JIAS3UOT 20T 21y
(810Z/0T/10 40 se paiepdn) (%65+9%5) AunaduoT sieak ST = 17 1(%5) AuAaBU0T sJeap 0T = 1
SO'ZE 65°0E £T'6Z 33 ET'6C 90'67 vELT v’z 89'LT 9t | 915z 9€£'9Z 91'sZ 01°sZ 96'€T [4: 44 11 ¥3¥3LSTOHAN
TS0t £1°6C viLT 906 FLLT 89'LZ [a4-14 91°ST 9€'9C 91'st 96°EC ‘ST 96'€7 16'€T 872 €LTT | H3¥ILSTOHAN
1E'8T 70'LT £L°ST 969 £EL'ST £9'6Z 052 EEET v v EEET [a444 8T €T [4444 L1 aT'1z ST'0Z XY31] S1¥Vd ONIAIID3Y
1£°8C oLe EL'ST 96'8¢ €L'ST £9°ST 0s'tve EE'ET rr'vl EEET (4444 Bl'el T JANT4 9T'1¢ ST'0T AU SLHVd
ST'SE SS'EE S6'TE LVEE S6'TE 88'1E £v°0€ 86'8C 9¢'0¢t 8687 09°L2 16’82 0922 PS'LT 62'9C 0'SZ W4-MH37D SL¥Vd vl
9.'6E SE'LE t1°9E 98'l¢t v1°9¢ 90'9¢€ r'vE 8LTE L343 BLTE ZT1E TLTE ZTTE STTE EL°6T TE'82 - 1 JINYHI3IIN NS
L6'9% 67°SE T9°€E j413 19°EE £S'EE 10°TE 67'0E v6'TE 67 0 ¥0'6Z P0E 06 99'LZ 86'87 99'¢T vE'9Z 11 DINYHIIIN NS
98'EE (443 8L°0E STULE 8L0E T1E'6C 1£°0€ 1e'6L T6°LT 6L 1642 8597 S8'LT 85'9¢ TE'ST 592 T€'s¢ 0T'vZ 1 JINYHIIIN N4
9E'TY 8v'6E 0%°LE 6E'6¢ 09°LE 18'9t [4¥43 18'SE 0T'vE TLSE 0T're 8b'ZE £0'7E 8¥'TE £6'0E Ot £6°0E 9t'6Z JINYHDIW Ov3T N4
09'Er 91y ¥9'6E €5'1¥ 19°6€ SLLE SS'6E SLLE S6'SE 99'LE S6'SE vTvE L8'SE YT vE 19°¢E 9T vE 19Z¢ 90°1E NVIDINHD3L JINGY1D313
6F'SE 88'CE LTTE 18 €€ [ 4143 £L°0€ 61'¢CE €40t LT6T 99'0€ LT6E 88°LT 17°6L 88'/¢ 55'9Z 18°4C 96'9¢ 6Z°ST JINVHIIW ¥IVd3Y AQ08
3TNA3HIS AUVIVS NIANA
19 dais 19 dais gdais| 115das| sdais Sdais| T1rdais| 7y dars v dais| T1gdas] 7edars gdas| T1zdas| qzdaig zdais| Midars| q1dais 1 daig

8102 ‘bT 2unr 2a13da43



